
(Fig. 8)

(Fig. 7)

U-Screw

Screw (M6X10)

M6 Washer

M8 nut

Plastic nut

Screw (M6X50)

U-Clamp
T-Clamp

M6 nut

Plastic nut

Lower bracket installation step:
1. Install the threaded nut in the lower rail of the left and right beams and match the
dimensions of the roof beams or rails installed on your car. Complete this activity by tightening
all screws.
(2) Once adjusted, install the lower bracket using a bolt (M6x10), and tighten the nut with a hex
key. (Fig. 7)

Roof beam assembly step:
1.Place the assembled rack on the crossbar.
2.Installing the T-clamp: insert the screw (M6x50) into the oval hole of the bottom bracket, insert the
plastic knob, secure with the M6 nut, turn the plastic knob and tighten the tube crossbar.

3.Installing the U-shaped clamp: screw the U-shaped screw into the two
elliptical holes of the bottom clamp plate, insert the plastic knob, and finally use the M8 nut and turn the
plastic knob to clamp the crossbar. (Fig. 8)
Lower bracket installation step:
1. Install the threaded nut in the lower rail of the left and right crossbars and match the dimensions of the
roof beams or rails installed on your car. Complete this activity by tightening all screws.
(2) Once adjusted, install the lower bracket using a bolt (M6x10), and tighten the nut with a hex key. (Fig. 7)

INNETSKLEP


